Efficiency vs P,

— 0.1
o

XY R S S—
> N N N

2 0.08F----veeseieeee e Beeeeeeennd e
o : : :

0.07f---erriemeeeeees SRRTETEERE e
Y SRR R S— S—
Y SRS KA A A—
0.04F -4 e Feeeeeeeeen e

e

0.03F -l fiorreeone S
0.02F -+ T S S——
0.0 ++eeeseienenenenene ------------- o
o +BF -kl
E 1.25— -------- » --------------------------------------
G R & B e R L S TERTTLRE LRI EIIRRED

" S 1 SO SO S

=
o
iN

—=— DQM_mkFit_baseline_lowPT

—— DQM_mkFit_baseline6iter_lowPT

- 05
£0.45
0.4
£0.35
0.3
0.25
0.2
0.15
0.1
0.05

iclency

et

Vs

Ratio
N

0.95

Efficiency vs ¢

s 0.1
g
20.09
2
) 0.08]
(S}
£0.07
(]
0.06]
0.05
0.04
0.03]
0.02
0.01

1.0

Ratio

L L L A LN B DL IR LR BN BB DR RN LR

Fooo 34

-

4+




	Contents
	Page 1


